Directions:

1.
Put your beaker on the scale and tare the scale.

2.
Add between 0.70-0.95 g of powder X or Y or Z.  Write down the grams of powder used.

3.
Lift the beaker from the scale, and tare the scale.  Place the beaker with your powder and the pipette with acid on the scale and find the total mass.  Write down the total mass (beaker, powder, full pipette).

4.
Slowly add all the hydrochloric acid to the sample. 

5.
Weigh the beaker, contents, and pipette containing the unused acid.  Record this number.  The system should have less mass than originally.  Why?

6.
Rinse your beaker and dry with a paper towel.  Do another trial if you have time.

Data

Unknown, X, Y, or Z (circle one)













Trial 1


Trial 2

1.
mass of the powder used




g


g

2.
mass of complete (before reaction) set-up


g


g

3.
mass of complete (after reaction) set-up


g


g

4.
apparent mass loss (CO2)




g


g

5.
% CO2 in sample (data 4/data 1 X 100)



%


%





Average of both trials






%

What is the formula for your powder?  





